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What are all valugs of x for which the finction f defined by F(x)=x"+3x2-9x+7 is The function f givenby f(x)= 3 —4x" ~3x has 2 relative maximum at =
increasing? @
A) -3<x<l J5 5
& e @ - ® -F  © 0 o = ® 1
C} x<~3 orx>1
(L) x<-lorx>3
(E) All real numbers @ What are all values of x for which the function f defined by f(x)=(x* ~3)e™* is increasing?

(A} Therearenosuchvaluesofx, (G =3<x<l
(B} x<-1andx>3 I -l<x<3

. Ifgis a differentiable function such thet g(x) <0 for all real numbers x and if (E) Al values ofx

2 r= (x*~4)2(x), which of the following is truc?

(A} f has arelative maximum at x=—2 and a relative minimumat x=72. @ If fix)=x'", then the graph of  is decreasing for ll  such that

(B} f has arelative minimum at x = -2 and a relative maximumat x=2,
(C)} f has relative minimaat x=-2 and at x=2.
(D} f has relative maxima at x=-2 andat x=2.

(E) Itcannot be determined if f has any relative extrema. ] 2 ) o
@ If f(x)=1+x3, which of the following is NOT tue?

(A) x<-2 B) -2<x<0 C) x>-2 D) =z<0 (B} x>0

. L + . L. . (A) f is continuous for all real numbers. (D) F(x) exists for all x.
The function f is given by f(x)}=x* + x* 2. On which of the following intervals is
increasing? B} f basaminimumat x=0. (B} f(x) isnegative for x> 0.

Wl OO (e

(C) f isincreasing for x> 0.

1 1 @ How many critical points does the fumction f{x)=(x+ 2)5(x- 3)* have?
®7E
(A) One (B} Two (Cy Three (I Five (E) Nine
"\ The graph of £, the derivative of £, is shown in the figure above. Which cxfthe'following Inx . L. .
A describes all relative exirema of f on the open interval (a,5)7 \/ @ /@)= X forall x>0, which of the following s true?
(A) One relative maximum and two relative minima ¥ (A) f is increasing for all ¥ greater than 0, (D} f is decreasing for all x between 1 and e,

Eg% m ?éﬁ;:mﬁxfm;%m 1 ‘ (B) [ isincreasing for all x preater than 1. {E) f is decreasing for all x greater than e,
@) One relative maximum and three relative minima (C) f is decreasing forall x between 0 and 1.
(B) Three relative maxima and two relative minima r=

@ For what value of & will ):+E have a relative maximum at x=-27
x

(A) 4 ®B) -2 (B) None of these

V 9 \\_/ ~ < 2 D) 4
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